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WIER SEGE TR X B IRIR (S OB AT

% # A - BRHE By ¥ 8 i & & =
BRI 9,089,800 + 231,855 9,321, 655
EEAGHE 9,089, 800
EERE 231, 855
Z Ot R 1 9,089,800 x 53.85% ( 35% + (1 — 35%) ) 4,894,857
RHRE 9,321,655 + 4,894,857 14,216,512
—REEERE 14,216,512 x 53.85% ( 35% = (1 — 35%) ) — 2,103 7,653, 488
EX T 14,216,512 + 7,653, 488 21,870, 000
HEGEHELE 21,870,000 x 10.00% 2,187,000
¥BERH 21,870,000 + 2,187,000 24,057,000




BEARRE BN T 1 X [ SR8 (5 1)(F8) M AR 2R 5t

% [ BiE - BTk Bifip B B T # m B
BRI 9,321, 655
BRETE 9,321, 655
EHESZ] 9,321, 655
HARER T 8,184, 200
ERETETE 137, 300
EREtEtE 1.00 137, 300 137, 300
=
BEEHE 3,511, 300
2 BEHIHE RERA 1.00 1,303, 400 1,303, 400
=
3 mHFE AR 1.00 1,100, 400 1,100, 400
=
4 BLRFEtE RHBR 1.00 958, 300 958, 300
=
5 FELTEHE 1.00 149, 200 149, 200
=
HEFHE 169, 000
6 BEHE 1.00 169, 000 169, 000
=
X @ A 2,942,000
7 HEER 1.00 2,942,000 2,942,000
=
7=V UEBEREDRE 736, 600




BEANRE

SEGE TR X B IRIR (S OB AT

£ i R - Bk Bifig £ 1t £ %

8 r—v UEEAREDRE 1.00 736, 600 736, 600
E

AR 281, 000

9 HEZ/ERL 1.00 281, 000 281, 000
=

g - e 298, 400

10 1% - | 4.00 74, 600 298, 400
[

BE 108, 600

11 BE 1.00 108, 600 108, 600
E

BIM/CINE 7 JL{ERL 905, 600

BIM/CINE st EE 128, 900

12 BIM/CIMEEETEIE 1.00 128,900 128, 900
E

BEMETILOER 414, 400

13 BHFEHROMNS 1.00 414,400 414, 400

247

AR 225, 000

14 BIN/CIME T IILERESZ/ERL 1.00 225, 000 225, 000
=®

BE 137, 300

15 BE 1.00 137, 300 137, 300




BEANRE

SEGE TR X B IRIR (S OB AT

% L B - R B4 g i iy il

EEEE 231,855
EHARE 85, 455
16 EHAME 1.00 85, 455 85, 455

=
S 110, 000
17 £HBHER 1.00 110, 000 110, 000

=
Z Dt 36, 400
18 e TRERE 1.00 36, 400 36, 400




Rffik -/ \v7r—o

B EUE TR R B R R (58 1)(F MR ER 5t

E5:1
£ - BEEHE 124Y
% b I - BKTiE By H = B O{H %8 B =
F{EEED BRED)
A 1. 50 57, 400. 00 86, 100
AR (A)
A 1.00 51, 200. 00 51, 200
& &t Ve S - 1,00z 137, 300. 00 137, 300
EE:2
¥ BEFHEE KRBER 14y
% E R - BRTiE B o 2 B &R 5 &=
F{EHED BRED)
A 1.00 57, 400. 00 57, 400
AR (A)
A 10. 00 51, 200. 00 512, 000
A (B)
A 10. 00 40, 600. 00 406, 000
HEm (C)
A 10. 00 32, 800. 00 328, 000
& &t Ve S - 1,00zt 1,303, 400. 00 1, 303, 400
S :3
&F : BEHEE FERER 1B
% E R - BRTiE B o 2 B &R 5 &
F T EED BRED)
A 1.00 57, 400. 00 57, 400
AR (A)
A 10. 00 51, 200. 00 512, 000
A (B)
A 5. 00 40, 600. 00 203, 000
HEm (C)
A 10. 00 32, 800. 00 328, 000
& &t Ve S - 1,00zt 1, 100, 400. 00 1, 100, 400




Rffik -/ \v7r—o

B EUE TR R B R R (58 1)(F MR ER 5t

&BES:4
& BAEE RFEER IEEL
4 b R - KTk =-Fiv] 2 B %5 5 &
e TG HY
A 1.50 57, 400. 00 86, 100
A (A)
A 7.00 51, 200. 00 358, 400
BER (B)
A 7.00 40, 600. 00 284, 200
HEm (C)
A 7.00 32, 800. 00 229, 600
& it fEZREH 1008 958, 300. 00 958, 300
E#E:5
& FEXETHE IEEL
4 b LI 2 NS B =-Fiv] 2 B %5 5 &
e TG HY
A 1.00 57, 400. 00 57, 400
HEm (A)
A 1.00 51, 200. 00 51, 200
BER (B)
A 1.00 40, 600. 00 40, 600
A& i EZRES - 1.00=% 149, 200. 00 149, 200
5:6
2 HEFHE 1y
4 b R - RTE B 2 L= i % 5 &
HEm (C)
A 2.50 32, 800. 00 82, 000
B &
A 3.00 29, 000. 00 87, 000
A& i EZRES - 1.00=% 169, 000. 00 169, 000




Rffik -/ \v7r—o

B EUE TR R B R R (58 1)(F MR ER 5t

=:1
2% . HEER 1KLY
2 L R - KT By = B i %8 5 &
A (A)
A 1.00 51, 200. 00 51, 200
HEm (B)
A 22.00 40, 600. 00 893, 200
A& (C)
A 22.00 32, 800. 00 721, 600
Hittg
A 44.00 29, 000. 00 1,276, 000
& R fEEEEH - 1.00K 2,942, 000. 00 2,942,000
EES:8
BFR: T— VEEREDRE 1KLY
£ [ R - BKTE By = B i % i &
F{EHED BRED)
A 2.50 57, 400. 00 143, 500
A (A)
A 4.00 51, 200. 00 204, 800
HEm (B)
A 4.50 40, 600. 00 182, 700
A& (C)
A 4.50 32, 800. 00 147, 600
Hittg
A 2.00 29, 000. 00 58, 000
& R fEEgEH - 1.00K 736, 600. 00 736, 600




Rffik -/ \v7r—o

B EUE TR R B R R (58 1)(F MR ER 5t

&S :9
B MEEER XY
% E A - BkTE B = B {f &R i &
F AR GRED
A 1.00 57,400. 00 57,400
HEm (A)
A 1.50 51, 200. 00 76, 800
A& (B)
A 2.00 40, 600. 00 81,200
HEm (C)
A 2.00 32, 800. 00 65, 600
& &t YEEBEH : 1.00= 281, 000. 00 281, 000
H#5:10
& Wi - e 1mEHY
2 L R - KT By = B i %8 5 &
F AR GRED
A 0.50 57,400. 00 28,700
HEm (A)
A 0.50 51, 200. 00 25, 600
A& (B)
A 0.50 40, 600. 00 20, 300
& it YEZEREH : 1.00[H 74, 600. 00 74, 600
&5 1
&% BE 1B
% E A - BkTiE B = B {f &R i &
F{EHED BRED)
A 1.00 57, 400. 00 57, 400
A (A)
A 1.00 51, 200. 00 51,200
& it fEErEH : 1.00 108, 600. 00 108, 600




Rffik -/ \v7r—o

B EUE TR R B R R (58 1)(F MR ER 5t

H5:12
A% BIM/CINERHEZ 1XHY
% L R - KT il %8 5 &
F AR GRED
57, 400. 00 57, 400
HEm (A)
51, 200. 00 51, 200
A& (B)
40, 600. 00 20, 300
& it fEErEH : 1.00 128, 900. 00 128, 900
#5513
&2 BHREHROME 18474y
% Eu A - kTE il &R i &
HEm (A)
51, 200. 00 51, 200
A& (C)
32, 800. 00 131, 200
Hittg
29, 000. 00 232,000
& R 414, 400. 00 414, 400
ES .14
&% : BIN/CINETILHREEZER ==
% b R - KT = il %8 5 &
F A GRED
57, 400. 00 57, 400
HEm (A)
A 51, 200. 00 76, 800
A& (C)
A 32, 800. 00 32, 800
Hittg
A 29, 000. 00 58, 000
& R 225, 000. 00 225,000




Rffik -/ \v7r—o

B EUE TR R B R R (58 1)(F MR ER 5t

S : 15
4 g R - KT By 8 = B i £ 5 &=
F AR GRED
A 1.50 57,400. 00 86,100
B (A)
A 1.00 51, 200. 00 51, 200
= g YEEBEH : 1.00= 137, 300. 00 137, 300
5:16
2% EHERRE 1Y
% g R - BKTE By B = B i £ i &
EHRARE
= 1.00 85, 455. 00 85, 455
= g YEEBEH : 1.00 85, 455. 00 85, 455
EZ=
&% EBHRR X5
4 g R - KT By 8 = B i £ 5 &=
(ARG E
= 1.00 110, 000. 00 110, 000
& H YEXREH : 1.00 110, 000. 00 110, 000
S 18
BF: EIEERE X5
2 Eu A - BkTiE B ¥ =2 B el i &
E-AYUTRE HEEEBA
= 1.00 36, 400. 00 36, 400
= &t YEEBEH : 1.00 36, 400. 00 36, 400




